Name: ____________________________

CW/HW #2 – M13 Spring 2012

Due: Wednesday, February 2
(1st 10 minutes of class or it is late & not accepted)

Instructions: Complete the following problems on your own paper. You may simply use the number to indicate the problem. Copy the problem, show the work and box the answer.

1.  
Write an algebraic expression or equation for the following.  Let x = # in any 


case where a variable is needed. Write equation or expression next to each 


translation as appropriate.

a)
The difference of five times a number and two


b)
The ratio of a number and two is the same as eight


c)
The quotient of seven and two times a number

d)
The quotient of a number and two, decreased by seven


e)
Two times a number yields ten


f)
The total of eighteen and five times a number equals eleven times the 


number


g)
The sum of five and a number multiplied by two


h)
The product of five and the sum of two and a number is equivalent to the 


quotient of forty and the number
2.
The height of Mt. Shasta is 14,162 ft above sea level and Death Valley is 282 ft 

below sea level (a negative number).  What is the difference in the altitude between 

Mt. Shasta and Death Valley? Show setup, an expression and a solution.
3.
The Ringers play 5 more games than the Setters during a regular season.  If 

together they play a total of 51 games how many does each team play? Show 


setup, an equation and a solve.
4.
List the set described in set builder notation in roster form  


a)
B = {y | y(N, y is odd, y < 8}

b)
L = {x | x ( I, x > 5}

c)
K = {z | z ( W, 3 < w < 4}
5.
Which of the following are true statements?


a)
W ( Q


b)
W ( N


c)
Q ( I
6.
Is the statement  {2} ( {2, 4, 6} true or false? Why?

7.
For the following sets answer the questions

 A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}  &  B = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}  &  C = {1, 3, 5, 7, 9, 11}

a)  Give the set A ∪ B

b)  Give the set  A ∩ B

c)  Give the set A ∩ C
8.
  Simplify using strict order of operations. Show work in each step.
a)
(1/2)2  (  (0.1)2 +  44  (  (-2)3


b)  2 ( 8 ( 23 ( 4 + 2(13 ( 10 + 5)2
c)
  -2 | 6 ( 27 | ( 3  +  4  


d)
  5(2 (  3)    +    3(52  (  28)  

    (16  (  32  ( 23




       -22
                3  (  (-7)
9.
Expand and simplify.


a)
(-3)2  

b)
- 32

c)
2 –1

d)
(-2xy)0


e)
2xy0

f)
2xy -1

g)
(2xy) -1

h)
(2/5)3


i)
(2.1)1.3
10.
Solve. Also give a check for part a).

a)
2(x ( 5) + 3x  =  2 ( 3(x + 4)



b)
2x + 5  =  2(x + 5)

c)
1/3  +  2/5(x  (  1/3)  =  1/10 x  +  3/5
     

d)  9x ( 6(x ( 2)  =  2(x + 6)
e)  5(x ( 4) + 4x  =  9(x ( 7) + 43



f)
  5 ½   
  =      x    


g)
0.25(x  (  0.1)  =  0.5x  +  0.75



    9               ¾
h)
2(a  +  1)  =  2(a  (  5)  +  12
11.
Give the real root

a)  (-0.125

b)
(15/13

12.
On a piece of graph paper


a)
draw a coordinate system


b )
label the axes


c)
correctly mark the axes from -5 to 5 by ones


d)
label the quadrants using correct notation


e)
write a general type of ordered pair found in a quadrant below each label






e.g. (x, y) found in QI


f)
Correctly plot and label
(0, 5), (-2, 3), (4, 2), (-1, -3), (1, -5), (-4, 0)

13.
On a rectangular coordinate system graph each of the following equations. Label 


the equation.

a)
2x  +  3y  =  9

b)
y = x2  +  3

c)
y = | x  –  2 |
3
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